

$$\begin{aligned} \text{a) } & y'(x) = \frac{1}{2} (2y+x)^2 + \frac{3}{2} ; \quad u(x) = 2y(x) + x \quad \textcircled{3} \\ & y' = \left(\frac{u-x}{2}\right)' = \frac{1}{2} u' - \frac{1}{2} \end{aligned}$$

$$\frac{1}{2} u' - \frac{1}{2} = \frac{1}{2} u^2 + \frac{3}{2} ; \quad u' = \frac{du}{dx} = u^2 + 4 \quad \textcircled{1}$$

$$\int \frac{du}{u^2+4} = \int dx \quad \textcircled{1} ; \quad \int dx = x + C \quad \textcircled{1}$$

$$\int \frac{du}{u^2+4} = \frac{1}{4} \int \frac{du}{1+(\frac{u}{2})^2} = \frac{1}{4} \arctan\left(\frac{u}{2}\right) + C = \frac{1}{2} \arctan\left(\frac{u}{2}\right) + C \quad \textcircled{3}$$

$$\frac{1}{2} \arctan\left(\underbrace{y + \frac{x}{2}}_u\right) = x + C \Rightarrow \underline{\underline{y_{\text{all}}(x) = \tan\left(2\left(x+C\right)\right) - \frac{x}{2}}} \quad \textcircled{1}$$

$$\text{b) } \textcircled{2} \quad 1 = \tan(2C) - 0 \Rightarrow 2C = \frac{\pi}{4} ; C = \frac{\pi}{8} ; \underline{\underline{y_{\text{ind}}(x) = \tan\left(2x + \frac{\pi}{4}\right) - \frac{x}{2}}} \quad \textcircled{2}$$

$$\text{2. } \textcircled{10} \quad y' + 2(x+1)y = e^{-x^2}$$

$$\text{(H): } y' = -2(x+1)y \quad \int \frac{dy}{y} = -2 \int (x+1) dx$$

$$\ln|y| = -x^2 - 2x + C ; \quad \underline{\underline{y_{\text{all}}(x) = K e^{-x^2-2x}}} ; K \in \mathbb{R} \quad \textcircled{5}$$

$$y_{\text{I.P}}(x) = K(x) e^{-x^2-2x} ; \quad y'_{\text{I.P}} = K'(x) e^{-x^2-2x} + K(x)(-2x-2)e^{-x^2-2x} \quad \textcircled{1}$$

Brünn:

$$\left(\cancel{K'(x) - 2(x+1)K(x)}\right) e^{-x^2-2x} + 2(x+1) \cancel{K(x)} e^{-x^2-2x} = e^{-x^2}$$

$$K'(x) = e^{2x} \quad \textcircled{1} ; \quad K(x) = \int e^{2x} dx = \frac{1}{2} e^{2x} ; \quad \underline{\underline{y_{\text{I.P}}(x) = \frac{1}{2} e^{-x^2}}} \quad \textcircled{1}$$

$$\underline{\underline{y_{\text{I.all}}(x) = y_{\text{H.all}}(x) + y_{\text{I.P}}(x) = K e^{-x^2-2x} + \frac{1}{2} e^{-x^2}}} ; K \in \mathbb{R} \quad \textcircled{1}$$

3, [8]

$$f(n+1) = 3f(n) + 10f(n-1)$$

$$q^{n+1} = 3q^n + 10q^{n-1} \Rightarrow q^2 - 3q - 10 = (q-5)(q+2) = 0$$

$$q_1 = 5; q_2 = -2; \underline{f_{\text{all}}(n) = A5^n + B(-2)^n} \quad (2)$$

$$\left. \begin{array}{l} f(0) = 8 \Rightarrow A+B=7 \\ f(1) = -1 \Rightarrow 5A-2B=14 \end{array} \right\} \begin{array}{l} A=4 \\ B=3 \end{array}; \underline{f(n) = 4 \cdot 5^n + 3 \cdot (-2)^n} \quad (2)$$

4, [10]  $y'' - 2y' + 5y = 3\sin(2x)$

(H)  $\lambda^2 - 2\lambda + 5 = 0; \lambda_{1,2} = 1 \pm \sqrt{1-5} = 1 \pm 2i \quad (2)$

$y_{H,\text{all}}(x) = C_1 e^x \sin(2x) + C_2 e^x \cos(2x) \quad (2)$   $C_1, C_2 \in \mathbb{R}$   
Nimm monomiale!

$y_{I,P}(x) = A \sin(2x) + B \cos(2x) \quad (2) \quad / \cdot 5$

$y'_{I,P}(x) = 2A \cos(2x) - 2B \sin(2x) \quad / \cdot (-2)$

$\oplus y''_{I,P}(x) = -4A \sin(2x) - 4B \cos(2x) \quad / \cdot 1$

$$3\sin(2x) = \sin(2x) \underbrace{(5A+4B-4A)}_{A+4B} + \cos(2x) \underbrace{(5B-4A-4B)}_{B-4A}$$

$$A+4B=3 \quad / \cdot 4 \quad (2)$$

$$-4A+B=0$$

$$\oplus \underline{0+17B=12} \Rightarrow B = \frac{12}{17}; A = 3 - \frac{4 \cdot 12}{17} = \frac{51-48}{17} = \frac{3}{17}$$

$y_{I,P}(x) = \frac{3}{17} \sin(2x) + \frac{12}{17} \cos(2x) \quad (1)$

$y_{I,\text{all}}(x) = C_1 e^x \sin(2x) + C_2 e^x \cos(2x) + \frac{3}{17} \sin(2x) + \frac{12}{17} \cos(2x) \quad (1)$

$$5, a \quad \sum_{n=1}^{\infty} \frac{3^{n+1} + (-2)^{2n+3}}{5^n} = 3 \sum_{n=1}^{\infty} \left(\frac{3}{5}\right)^n - 8 \sum_{n=1}^{\infty} \left(\frac{4}{5}\right)^n \quad (3)$$

$$= 3 \cdot \frac{3/5}{1-3/5} - 8 \frac{4/5}{1-4/5} \quad (2) = \frac{9}{2} - 32 = -\frac{55}{2}$$

Geometrische  
reihe

$$b, \quad \frac{1}{n(n+1)} = \frac{1}{n} - \frac{1}{n+1} \quad (2)$$

$$S_n = \sum_{k=1}^n \left( \frac{1}{k} - \frac{1}{k+1} \right) = \left( \frac{1}{1} - \frac{1}{2} \right) + \left( \frac{1}{2} - \frac{1}{3} \right) + \dots + \left( \frac{1}{n} - \frac{1}{n+1} \right) = 1 - \frac{1}{n+1} \quad (2)$$

Teleskopsumme!

$$S = \lim_{n \rightarrow \infty} S_n = \underline{\underline{1}} \quad (1)$$